

#### Pay Estimate Created Date: July 1, 2022

Progress Estimat 5	e Number	Contract ID Prime Contra	211119-C0 ctor Ideker, Inc.		eriod Start eriod End	June 16, 202 June 30, 202	2 Net	jinal Contract Amount Change Order Amount rent Contract Amount	\$3,241,296.70 \$157,553.67 \$3,398,850.37
Approval Date									By User
July 1, 2022			Generated and A	yostj1					
July 1, 2022		R	eviewed and Appro	sandis1					
July 5, 2022		Controllers Office Level by	ramses1						
Original Completi	on Date	Current Con	npletion Date	Actua	ual Completion Date % o			of Current Contract Amou	int Complete
November 4, 2	022	Novembe	er 4, 2022					28.43%	
	Contract	Informational Dat	tes			Milestones			
Date Description	Original O	Completion Date	Current Complet	ion Date	No Milesto	ones Exist for C	Contract		
Acceptance Date									
Awarded Date	December	r 1, 2021	December 1, 202	1					
Letting Date	November	r 19, 2021	November 19, 2021						
Notice to Proceed Dat	e January 3	1, 2022	January 31, 2022						
Open to Traffic Date									
Work Began Date	May 3, 20	22	May 3, 2022						

Contract Total Pay For Estimate No. 5				
	This Estimate	Previous	To Date	
211119-C03				
Total Posted Items Pay	\$95,770.36	\$870,546.45	\$966,316.81	
Gross Item Adjustments	\$49,608.25	\$119,272.00	\$168,880.25	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		<mark>\$989,818.45</mark>	\$1,135,197.06	
Contract Total Payable This Estimate:	\$145,378.61			

### Contract Total Payable This Estimate:

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4I3331	0070	4030009	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095BSM MIX)	TONS	\$96.280	549	\$52,857.72
	0440	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$1.580	26,119.08	\$41,268.15
	0450	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$1.980	830.55	\$1,644.49
Project J4	3331 - Tota	al					\$95,770.36
Overall - To	otal						\$95,770.36

**Overall - Total** 

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4I3331	0050	TYPE A2 SHOULDER	Material			-13	\$54.62	(\$710.06)
	0050	TYPE A2 SHOULDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user yostj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	13	\$54.62	\$710.06
	0070	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095BSM MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	549	\$7.77	\$4,265.07
	0070	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095BSM MIX)	Other Item Adjustment	Asphalt Cement Price	This adjustment is an Asphalt Cement Price Adjustment for asphalt placed on the following dates: 6/8/22, 6/10/22, 6/13/22, 6/14/22,			\$45,343.18



#### Pay Estimate Created Date: July 1, 2022

Pro	gress E	Estimate Number 5	Contrac Prime C	t ID ontractor	211119-C03 Ideker, Inc.	Pay Period End June 30, 2022 Net Cha	Contract Am nge Order Ar Contract Am	nount \$1	,241,296.70 57,553.67 ,398,850.37
Project lumber	Line No.	Item Descriptio	on	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
413331					Adjustment	6/20/22.			
	0110	TAC	CK COAT	Material			-3,100	\$2.50	(\$7,750.00
	0110	TAC	CK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user yostj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	3,100	\$2.50	\$7,750.00
	0120	CONCRETE PAVEN	IENT (10 N-REINF)	Material			-117	\$172.60	(\$20,194.20
	IN. NON-REINF)		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user yostj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	117	\$172.60	\$20,194.20	
	0130	CONCRETE CUI HEIGHT AND UNDE		Material			-258	\$62.25	(\$16,060.50
	0130 CONCRE HEIGHT AND			Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user yostj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	258	\$62.25	\$16,060.50
	0140	0140 INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A			This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 23 on the current Payment Estimate. Material Insufficiency Quantity 208.500; Overrun Quantity Balance 0.50.	0.5	\$22.75	\$11.38	
	0140	INTEGRAL CUI HEIGHT AND UNDE		Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-0.5	\$22.75	(\$11.38
	0140	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A				-208.5	\$22.75	(\$4,743.38	
	0140	INTEGRAL CUI HEIGHT AND UNDE		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user yostj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	208.5	\$22.75	\$4,743.38
	0200	FURNISHING AND F CONCRETE MATER FULL DEPTH PA	IAL FOR	Material			-336.7	\$301.00	(\$101,346.70
	0200	FURNISHING AND F CONCRETE MATER FULL DEPTH PAV	IAL FOR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user yostj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	336.7	\$301.00	\$101,346.70
otal									\$49,608.25



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	1	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J4I3331	l 635-1(258)	Coldmilll and resurface	635	PLATTE	from I-29 to the Kansas s	state line		
fotals by	Job Numbers	S						
J4I3331	Bostad	Itom Pay			This Estimate	Previous \$870 546 45	To Date \$966.316.81	

	This Estimate	Previous	To Date
Posted Item Pay	\$95,770.36	\$870,546.45	\$966,316.81
Gross Item Adjustments	\$49,608.25	\$119,272.00	\$168,880.25
Gross Item Pay	\$145,378.61	\$989,818.45	\$1,135,197.06
la constructione	<b>*</b> 0.00	<b>*</b> 0.00	<b>*</b> 0.00
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			1
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 4010150, Project Item Line Number 0050, Material Set 401015096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 4010150, Project Item Line Number 0050, Material Set 401015096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 4071005, Project Item Line Number 0110, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 5021110, Project Item Line Number 0120, Material Set 502111096, Material 0501CCSPEC - Concrete, Special, misc. or unusual use, Acceptance Action Generic 0501CCSPEC is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6091010, Project Item Line Number 0130, Material Set 609101096, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6091010, Project Item Line Number 0130, Material Set 609101096, Material 0501CCSPEC - Concrete, Special, misc. or unusual use, Acceptance Action Generic 0501CCSPEC is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6091010, Project Item Line Number 0130, Material Set 609101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6091010, Project Item Line Number 0130, Material Set 609101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6092011, Project Item Line Number 0140, Material Set 609201196, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6092011, Project Item Line Number 0140, Material Set 609201196, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6092011, Project Item Line Number 0140, Material Set 609201196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6092011, Project Item Line Number 0140, Material Set 609201196, Material 0501CCSPEC - Concrete, Special, misc. or unusual use, Acceptance Action Generic 0501CCSPEC is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6131010, Project Item Line Number 0200, Material Set 613101096, Material 0501CCSPEC - Concrete, Special, misc. or unusual use, Acceptance Action Generic 0501CCSPEC is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6131010, Project Item Line Number 0200, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6131010, Project Item Line Number 0200, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4I3331, Item 6131010, Project Item Line Number 0200, Material Set 613101096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Item Overrun: Contract 211119-C03, Contract Project J4I3331, Project Item Line Number 0140, Item 6092011, Minor Item.	No Remark was entered by Engineer	yostj1	Overridden
Estimate Exception Type: Item Overrun: Contract 211119-C03, Contract Project J4I3331, Project Item Line Number 0250, Contract Line Item Number 0250, Item 6133020, Minor Item.	No Remark was entered by Engineer	yostj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 211119-C03, Contract Project J4I3331, Project Item	No Remark was entered by Engineer	yostj1	Acknowledged



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status	
Line Number 5002, Contract Line Item Number 5002, Item 6133021, Minor Item.				

## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

d date and can differ from the posted amount at the time the Estimate was Gene ated

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See report generated date)
11119-C03	J4I3331	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.75	\$32,875.51	\$24,656.6
		0001	0020	2079909	MISC.MODIFIED LINEAR GRADING, CLASS II	16.00	0.00	16.00	STA	4.50	\$432.84	\$1,947.7
		0001	0030	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	0.80	\$875.00	\$700.0
		0001	0040	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	906.00	0.00	906.00	SQYD	117.00	\$10.85	\$1,269.4
		0001	0050	4010150	TYPE A2 SHOULDER	764.00	0.00	764.00	SQYD	13.00	\$54.62	\$710.0
		0001	0060	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	4,132.30	0.00	4,132.30	TONS	0.00	\$68.01	\$0.0
		0001	0070	4030009	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095BSM MIX)	14,348.90	0.00	14,348.90	TONS	2,678.36	\$96.28	\$257,872.5
		0001	0085	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$0.0
		0001	0090	4031058	INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$0.0
		0001	0100	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$0.0
		0001	0110	4071005		22,557.00	0.00	22,557.00	GAL	3,100.00	\$2.50	\$7,750.
		0001	0120	5021110	CONCRETE PAVEMENT (10 IN. NON-REINF)	142.00	8.00	150.00	SQYD	117.00	\$172.60	\$20,194.2
		0001	0130	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	1,391.00	0.00	1,391.00	LF	258.00	\$62.25	\$16,060.
		0001	0140	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	187.00	21.00	208.00	LF	208.50	\$22.75	\$4,743.
		0001	0150	6092012	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE B	15.00	0.00	15.00	LF	0.00	\$31.60	\$0.1
		0001	0160	6096020 6096042	FURNISHING TYPE 2 ROCK DITCH LINER PLACING TYPE 2 ROCK DITCH LINER	3.70	0.00	3.70	CUYD	0.00	\$69.70	\$0.1
		0001	0170	6097000	ROCK LINING	22.00	0.00	22.00	CUYD	0.00	\$81.76	\$0.1
		0001	0180	6122017	IMPACT ATTENUATOR 65 MPH (SAND BARREL ARRAY)	1.00	0.00	1.00	EA	0.00	\$2,800.00	\$0.1
		0001	0195	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,000.00	\$0.
		0001	0200	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	272.00	64.70	336.70	SQYD	336.70	\$301.00	\$101,346.
					DEPTH PAVEMENT REPAIR							
		0001	0210	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	28.00	-28.00	0.00	SQYD	0.00	\$1.00	\$0.
		0001	0220	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	28.00	-28.00	0.00	SQYD	0.00	\$1.00	\$0.
		0001	0230	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,224.00	0.00	1,224.00	LF	1,119.55	\$6.00	\$6,717.
		0001	0240	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	680.00	-332.00	348.00	EA	348.00	\$6.75	\$2,349.
		0001	0250	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	65.10	0.00	65.10	TONS	67.70	\$179.90	\$12,179.
		0001	0260	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	303.00	0.00	303.00	SQYD	251.30	\$153.92	\$38,680.
		0001	0270	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	6.00	\$3,700.00	\$22,200.
		0001	0280	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$19,000.00	\$9,500.
		0001	0290	6173103	CONCRETE TRAFFIC BARRIER, TYPE D (MOMENT SLAB)	20.00	0.00	20.00	LF	0.00	\$327.50	\$0.
		0001	0300	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	300.00	0.00	300.00	LF	0.00	\$32.00	\$0.
		0001	0310	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$317,915.42	\$238,436.
		0001	0320	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,687.00	0.00	1,687.00	LF	0.00	\$20.00	\$0.
		0001	0330	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	33.00	0.00	33.00	EA	0.00	\$240.00	\$0.
		0001	0340	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$190.00	\$0.
		0001	0350	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	85.00	0.00	85.00	EA	0.00	\$160.00	\$0.
		0001	0360	6205301B		960.00	0.00	960.00	LF	0.00	\$1.90	\$0.
		0001	0370	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	70,078.00	0.00	70,078.00	LF	0.00	\$0.26	\$0.
		0001	0380	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	51,073.00	0.00	51,073.00	LF	0.00	\$0.26	\$0.
		0001	0390	6205906A		10,787.00	0.00	10,787.00	LF	0.00	\$0.85	\$0.
		ODD         OA         6206000C         4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING				4,423.00	0.00	4,423.00	LF	0.00	\$0.40	\$0.
		0001	0410	6206001C	PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	906.00	0.00	906.00	LF	0.00	\$0.40	\$0.

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211119-C03	J4I3331	0001	0420	6207001	PAVEMENT MARKING REMOVAL	3,684.00	0.00	3,684.00	LF	0.00	\$1.50	\$0.00
		0001	0430	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	35.00	0.00	35.00	EA	0.00	\$125.00	\$0.00
		0001	0440	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	173,495.00	0.00	173,495.00	SQYD	26,119.08	\$1.58	\$41,268.15
		0001	0450	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	51,572.00	0.00	51,572.00	SQYD	830.55	\$1.98	\$1,644.49
		0001	0460	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	534.70	0.00	534.70	STA	0.00	\$25.76	\$0.00
		0001	0470	8051000A	SEEDING - COOL SEASON GRASSES	0.40	0.00	0.40	ACRE	0.00	\$7,460.00	\$0.00
		0010	0480	6061060	MGS GUARDRAIL	725.00	0.00	725.00	LF	200.00	\$29.00	\$5,800.00
		0010	0490	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	4,550.00	0.00	4,550.00	LF	737.50	\$33.25	\$24,521.88
		0010	0500	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	75.00	0.00	75.00	LF	0.00	\$44.00	\$0.00
		0010	0510	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	2.00	0.00	2.00	EA	1.00	\$3,200.00	\$3,200.00
		0010	0520	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	3.00	0.00	3.00	EA	0.00	\$3,100.00	\$0.00
		0010	0530	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	2.00	0.00	2.00	EA	0.00	\$2,950.00	\$0.00
		0010	0540	6061080	MGS END ANCHOR	5.00	0.00	5.00	EA	1.00	\$1,130.00	\$1,130.00
		0010	0550	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	1.00	\$2,750.00	\$2,750.00
		0030	0560	9020833	SH-FLAT SHEET - SIGNAL SIGN	11.00	0.00	11.00	SQFT	0.00	\$109.15	\$0.00
		0030	0570	9020834	SIGNAL SIGN, MOUNTING HARDWARE	12.00	0.00	12.00	EA	0.00	\$88.77	\$0.00
		0030	0580	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	1.00	0.00	1.00	EA	0.00	\$19,634.66	\$0.00
		0030	0590	9029902	MISC.ACCESSIBLE PEDESTRIAN SIGNALS (PUSHBUTTONS)	12.00	0.00	12.00	EA	0.00	\$1,227.94	\$0.00
		0001	5001	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	202.50	202.50	TONS	168.08	\$116.79	\$19,630.06
		0001	5002	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	752.20	752.20	SQYD	1,006.90	\$98.38	\$99,058.82
		0030	5003	9024975	VIDEO DETECTION SYSTEM	0.00	1.00	1.00	EA	0.00	\$40,866.00	\$0.00
	Project .	J4I3331 - To	tal Value	e Posted to D	Date as of Report Generated Date							\$966,316.78
211119-C03 Ov	erall - Tota	I Value Pos	ted to D	ate as of Rep	oort Generated Date							\$966,316.78



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	4030009	ASPH. CONC. MIXTURE PG 76-22 (SP095BSM)	6/16/22	6/27/22	549.00	TONS	I-635 SB Lane 2	1.496		3.498		This quantity is to pay for the remaining quantity placed on 6/14.
0440	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	6/16/22	6/27/22	6,907.40	SQYD	I-635 SB Lane 1	1.104		1.936		This work was completed on 6/10/2022
				6/27/22	9,520.00	SQYD	NB I-29 and I-635 SB RP & I-635 SB Lane 1	0.156		1.086		This work was completed on 6/08/2022
				6/27/22	9,691.68	SQYD	I-29 NB to I-635 SB RP & I-635 SB Lane 2	0.156		1.496		This work was completed on 6/13/2022.
0450	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/16/22	6/27/22	177.78	SQYD	I-635 SB Lane 1	0.185		1.086		This work was completed on 6/08/2022.
				6/27/22	297.21	SQYD	I-635 SB Lane 2	0.156		1.496		This work was completed on 6/13/2022. This modified milling is for the headers leading up to an away bridge decks for the following bridges: A2484 A2438 A2436
				6/27/22	355.56	SQYD	I-635 SB Lane 1	1.104		1.936		This work was completed on 6/08/2022.



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
413331	0040	TYPE 5 AGGREGATE	Price FUEL	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	2	May 16, 2022	SYSTEM	\$51.13	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE (6 IN. THICK)		- Total				\$51.13	
			Price FUEL -	- Total				\$51.13	
	0040 -	Total						\$51.13	
	0040 -	TYPE A2 SHOULDER	Material		2	May 16, 2022	SYSTEM	\$710.06	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mcclon1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	May 16, 2022	SYSTEM	(\$710.06)	
					3	Jun 1, 2022	SYSTEM	\$710.06	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user mcclon1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Jun 1, 2022	SYSTEM	(\$710.06)	
					4	Jun 16, 2022	SYSTEM	\$710.06	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user mcclon1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jun 16, 2022	SYSTEM	(\$710.06)	
					5	Jul 1, 2022	SYSTEM	\$710.06	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user yostj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	Jul 1, 2022	SYSTEM	(\$710.06)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0050 -	Total						\$0.00	
	0070	ASPH. CONC. MIXTURE PG 76-22 (SP095BSM)	Other Item Adjustment	ACAD	5	Jul 1, 2022	yostj1	\$45,343.18	This adjustment is an Asphalt Cement Price Adjustment for asphalt placed on the following dates: 6/8/22, 6/10/22, 6/13/22, 6/14/22, 6/20/22.
		(01 03300101)		ACAD - Tot	al			\$45,343.18	
			Other Item A	ACAD - Tot Adjustment - T				\$45,343.18 \$45,343.18	
			Other Item A Price FUEL			Jun 16, 2022	SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		(01000000)			otal		SYSTEM SYSTEM	\$45,343.18	Reference Item Price Adjustment Index Adjustment Type applied is FUEL Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		(010502000)			otal 4	2022 Jul 1,		\$45,343.18 \$16,542.58	
		(010502000)		Adjustment - T	otal 4	2022 Jul 1,		\$45,343.18 \$16,542.58 \$4,265.07	
	0070 -		Price FUEL	Adjustment - T	otal 4	2022 Jul 1,		\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65	
	0070 - 0110		Price FUEL	Adjustment - T	otal 4	2022 Jul 1,		\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65	
		Total	Price FUEL	Adjustment - T	otal 4 5	2022 Jul 1, 2022 Jun 16,	SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65 \$20,807.65 \$66,150.83	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment
		Total	Price FUEL	Adjustment - T	otal           4           5           4           4           5	2022 Jul 1, 2022 Jun 16, 2022 Jun 16,	SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65 \$66,150.83 \$7,750.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment
		Total	Price FUEL	kdjustment - T - Total - Total	otal           4           5           4           4           4           4	2022 Jul 1, 2022 Jun 16, 2022 Jun 16, 2022 Jul 1,	SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user yostj1 overridding Payment
		Total	Price FUEL	Adjustment - T	otal         4           5         -           4         -           5         -           4         -           5         -           5         -           5         -           5         -           5         -           5         -	2022 Jul 1, 2022 Jun 16, 2022 Jul 16, 2022 Jul 1, 2022 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00) \$7,750.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user yostj1 overridding Payment
		Total	Price FUEL	- Total - Total - Total	otal         4           5         -           4         -           5         -           4         -           5         -           5         -           5         -           5         -           5         -           5         -           5         -	2022 Jul 1, 2022 Jun 16, 2022 Jul 16, 2022 Jul 1, 2022 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00) \$7,750.00 (\$7,750.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user yostj1 overridding Payment
		Total TACK COAT	Price FUEL -	- Total - Total - Total	otal         4           5         -           4         -           5         -           4         -           5         -           5         -           5         -           5         -           5         -           5         -           5         -	2022 Jul 1, 2022 Jun 16, 2022 Jul 16, 2022 Jul 1, 2022 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00) \$7,750.00 (\$7,750.00) \$7,750.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user yostj1 overridding Payment
	0110	Total TACK COAT	Price FUEL -	- Total - Total - Total	otal         4           5         -           4         -           5         -           4         -           5         -           5         -           5         -           5         -           5         -           5         -           5         -	2022 Jul 1, 2022 Jun 16, 2022 Jul 16, 2022 Jul 1, 2022 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00) \$7,750.00 (\$7,750.00) \$0.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user yostj1 overridding Payment
	0110	Total TACK COAT Total	Price FUEL - Material	- Total - Total - Total	otal         4           5	2022 Jul 1, 2022 Jun 16, 2022 Jul 1, 2022 Jul 1, 2022 Jul 1, 2022 Jul 1, 2022	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00) \$7,750.00 (\$7,750.00) \$0.00 \$0.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL         This adjustment offsets the original system-generated Material Payment         Estimate Item Adjustment (0011) due to user mccion1 overridding Payment         Estimate Exception 3 on the current Payment Estimate.         This adjustment offsets the original system-generated Material Payment         Estimate Item Adjustment (0006) due to user yostj1 overridding Payment         Estimate Item Adjustment (0006) due to user yostj1 overridding Payment         Estimate Exception 3 on the current Payment Estimate.         This adjustment offsets the original system-generated Material Payment         Estimate Item Adjustment (0004) due to user mcclon1 overridding Payment
	0110	Total TACK COAT Total	Price FUEL - Material	- Total - Total - Total	otal       4       5       4       5       5       5       2	2022 Jul 1, 2022 Jun 16, 2022 Jul 1, 2022 Jul 1, 2022 Jul 1, 2022 Jul 1, 2022 Jul 1, 2022	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$45,343.18 \$16,542.58 \$4,265.07 \$20,807.65 \$66,150.83 \$7,750.00 (\$7,750.00) \$7,750.00 (\$7,750.00) \$0.00 \$0.00 \$0.00 \$20,194.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL         This adjustment offsets the original system-generated Material Payment         Estimate Item Adjustment (0011) due to user mcclon1 overridding Payment         Estimate Exception 3 on the current Payment Estimate.         This adjustment offsets the original system-generated Material Payment         Estimate Item Adjustment (0006) due to user yostij1 overridding Payment         Estimate Exception 3 on the current Payment Estimate.         This adjustment offsets the original system-generated Material Payment         Estimate Item Adjustment (0006) due to user yostij1 overridding Payment         Estimate Item Adjustment (0004) due to user mcclon1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks															
1.110-1-1				Туре																				
J4I3331	0120	CONCRETE PAVEMENT (10 IN. NON-REINF)	Material		4	Jun 16, 2022	SYSTEM	\$20,194.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user mcclon1 overridding Payment Estimate Exception 4 on the current Payment Estimate.															
					4	Jun 16, 2022	SYSTEM	(\$20,194.20)																
					5	Jul 1, 2022	SYSTEM	\$20,194.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user yostj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.															
					5	Jul 1, 2022	SYSTEM	(\$20,194.20)																
				- Total				\$0.00																
			Material - Tot	tal				\$0.00																
			Price FUEL		2	May 16, 2022	SYSTEM	\$160.06	Reference Item Price Adjustment Index Adjustment Type applied is FUEL															
				- Total				\$160.06																
			Price FUEL -	Total				\$160.06																
	0120 -	Total						\$160.06																
	0130	CONCRETE CURB (6 IN. HEIGHT AND	Material		2	May 16, 2022	SYSTEM	\$16,060.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mcclon1 overridding Payment Estimate Exception 12 on the current Payment Estimate.															
		UNDER)			2	May 16, 2022	SYSTEM	(\$16,060.50)																
									3	Jun 1, 2022	SYSTEM	\$16,060.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user mcclon1 overridding Payment Estimate Exception 10 on the current Payment Estimate.											
					3	Jun 1, 2022	SYSTEM	(\$16,060.50)																
					4	Jun 16, 2022	SYSTEM	\$16,060.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user mcclon1 overridding Payment Estimate Exception 11 on the current Payment Estimate.															
					4	Jun 16, 2022	SYSTEM	(\$16,060.50)																
					5	Jul 1, 2022	SYSTEM	\$16,060.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user yostj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.															
					5	Jul 1, 2022	SYSTEM	(\$16,060.50)																
				- Total				\$0.00																
			Material - Tot	tal				\$0.00																
	0130 -	Total						\$0.00																
	0140	INTEGRAL CURB (6 IN. HEIGHT AND UNDER)			2	May 16, 2022	SYSTEM	\$4,743.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user mcclon1 overridding Payment Estimate Exception 16 on the current Payment Estimate.															
		UNDER)					2	May 16, 2022	SYSTEM	(\$4,743.38)														
																						3	Jun 1, 2022	SYSTEM
					3	Jun 1, 2022	SYSTEM	(\$4,743.38)																
					4	Jun 16, 2022	SYSTEM	\$4,743.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user mcclon1 overridding Payment Estimate Exception 15 on the current Payment Estimate.															
					4	Jun 16, 2022	SYSTEM	(\$4,743.38)																
					5	Jul 1, 2022	SYSTEM	\$4,743.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user yostj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.															
					5	Jul 1, 2022	SYSTEM	(\$4,743.38)																
								\$0.00																
				- Total				\$0.00																
			Material - Tot					\$0.00 \$0.00																



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4I3331	0140	INTEGRAL	Adjustment	OADJ		2022			exception until the next change order is processed.
		CURB (6 IN. HEIGHT AND UNDER)			3	Jun 1, 2022	SYSTEM	\$489.13	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.
				OADJ - Tota	al			\$0.00	
				OVRN	3	Jun 1, 2022	mcclon1	(\$489.13)	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.
					4	Jun 16, 2022	SYSTEM	\$489.13	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.
				OVRN - Tota	al			\$0.00	
			Other Item A	djustment - T	otal			\$0.00	
			Overrun	Overrun	2	May 16, 2022	SYSTEM	\$489.13	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 26 on the current Payment Estimate. Material Insufficiency Quantity 208.500; Overrun Quantity Balance 21.50.
					2	May 16, 2022	SYSTEM	(\$489.13)	
					3	Jun 1, 2022	SYSTEM	(\$489.13)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	Jun 1, 2022	SYSTEM	\$489.13	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 24 on the current Payment Estimate. Material Insufficiency Quantity 208.500; Overrun Quantity Balance 21.50.
					4	Jun 16, 2022	SYSTEM	(\$11.38)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	Jun 16, 2022	SYSTEM	\$11.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) overridding Payment Estimate Exception 24 on the current Payment Estimate. Material Insufficiency Quantity 208.500; Overrun Quantity Balance 0.50.
					5	Jul 1, 2022	SYSTEM	(\$11.38)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	Jul 1, 2022	SYSTEM	\$11.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 23 on the current Payment Estimate. Material Insufficiency Quantity 208.500; Overrun Quantity Balance 0.50.
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0140 -	Total						\$0.00	
	0200	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		2	May 16, 2022	SYSTEM	\$101,346.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user mcclon1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
		DEFIN			2	May 16, 2022	SYSTEM	(\$101,346.70)	
					3	Jun 1, 2022	SYSTEM	\$101,346.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mcclon1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					3	Jun 1, 2022	SYSTEM	(\$101,346.70)	
					4	Jun 16, 2022	SYSTEM	\$101,346.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mcclon1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					4	Jun 16, 2022	SYSTEM	(\$101,346.70)	
					5	Jul 1, 2022	SYSTEM	\$101,346.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user yostj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					5	Jul 1, 2022	SYSTEM	(\$101,346.70)	
				- Total				\$0.00	
			Material - To					\$0.00	
			Other Item Adjustment	OADJ		May 16, 2022	mcclon1	(\$19,474.70)	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.
					3	Jun 1, 2022	SYSTEM	\$19,474.70	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3331	0200	FURN & PLACE	Other Item Adjustment	OADJ - Tota	al			\$0.00	
		CONC MATL FOR FULL DEPTH			3	Jun 1, 2022	mcclon1	(\$19,474.70)	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.
					4	Jun 16, 2022	SYSTEM	\$19,474.70	This line item adjustment is to remove payment for this items overrun exception until the next change order is processed.
				- Total				\$0.00	
			Other Item A	djustment - 1	otal			\$0.00	
			Overrun	Overrun	2	May 16, 2022	SYSTEM	\$19,474.70	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) overridding Payment Estimate Exception 27 on the current Payment Estimate. Material Insufficiency Quantity 336.700; Overrun Quantity Balance 64.70.
					2	May 16, 2022	SYSTEM	(\$19,474.70)	
					3	Jun 1, 2022	SYSTEM	(\$19,474.70)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	Jun 1, 2022	SYSTEM	\$19,474.70	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 25 on the current Payment Estimate. Material Insufficiency Quantity 336.700; Overrun Quantity Balance 64.70.
				Overrun - Total				\$0.00	
			Overrun - To	tal				\$0.00	
	0200 -	Total						\$0.00	
	0240	DOWEL BAR (DRILLING, FURNISHING	IG, NG		2	May 16, 2022	SYSTEM	\$2,349.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user mcclon1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
		AND INST			2	May 16, 2022	SYSTEM	(\$2,349.00)	
					3	Jun 1, 2022	SYSTEM	\$2,349.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user mcclon1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					3	Jun 1, 2022	SYSTEM	(\$2,349.00)	
					4	Jun 16, 2022	SYSTEM	\$2,349.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user mcclon1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					4	Jun 16, 2022	SYSTEM	(\$2,349.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0240 -	Total						\$0.00	
	0250	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Overrun	Overrun	4	Jun 16, 2022	SYSTEM	(\$467.74)	
				Overrun - T	otal			(\$467.74)	
			Overrun - To	tal				(\$467.74)	
	0250 -	Total						(\$467.74)	
	0480	MGS GUARDRAIL	Construction Stockpile		2	May 16, 2022	SYSTEM	(\$4,144.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$4,144.00)	
			Construction Construction Stockpile STMI	n Stockpile - <sup>-</sup>	Total			(\$4,144.00)	
					1	May 3, 2022	SYSTEM	\$15,022.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$15,022.00	
			Construction	n Stockpile S	TMI - Tota			\$15,022.00	
			Material		2	May 16, 2022	SYSTEM	\$5,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user mcclon1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					2	May 16, 2022	SYSTEM	(\$5,800.00)	
				- Total				\$0.00	



Jul 6, 2022

ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3331	0480	MGS GUARDRAIL	Material - Tot	al				\$0.00	
	0480 -	Total						\$10,878.00	
	0490	MGS GUARDRAIL, 8	Construction Stockpile		2	May 16, 2022	SYSTEM	(\$17,481.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT. POSTS, 6 FT 3 IN		- Total				(\$17,481.59)	
			Construction	Stockpile - 1	ſotal			(\$17,481.59)	
			Construction Stockpile		1	May 3, 2022	SYSTEM	\$107,852.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$107,852.50	
			Construction	Stockpile S	TMI - Total			\$107,852.50	
			Material		2	May 16, 2022	SYSTEM	\$24,521.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user mcclon1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					2	May 16, 2022	SYSTEM	(\$24,521.88)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0490 -	Total						\$90,370.91	
	0500	MGS GUARDRAIL, 6 FT POSTS 3	Construction Stockpile STMI		1	May 3, 2022	SYSTEM	\$2,398.25	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT. POSTS, 3 FT 1.5	STMI	- Total				\$2,398.25	
			Construction	Stockpile S	TMI - Total			\$2,398.25	
	0500 -	Total						\$2,398.25	
	0510	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile		2	May 16, 2022	SYSTEM	(\$1,982.05)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,982.05)	
			Construction	Stockpile - 1				(\$1,982.05)	
			Construction Stockpile STMI		1	May 3, 2022	SYSTEM	\$3,964.10	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 1 1	- Total				\$3,964.10	
	0510 -	T-4-1	Construction	Stockpile S	i Mil - Totai			\$3,964.10	
		MGS BRIDGE	Construction		1	May 2	OVOTEM	\$1,982.05	Deument Estimate Item Adjustment generated Steelaile Transaction
	0520	APP. TRANS SEC (REG/NO	Stockpile	- Total	1	May 3, 2022	SYSTEM	\$5,646.15 \$5,646.15	Payment Estimate Item Adjustment generated Stockpile Transaction
		CURB)	Construction					\$5,646.15	
	0520 -	Total	Construction	Stockpile 3				\$5,646.15	
	0530	MGS VERTICAL	Construction		1	May 3,	SYSTEM	\$3,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	5000	CONCRETE BARRIER TRANSITION	Stockpile	- Total		2022	STOTEM	\$3,900.00	
			Construction		MI - Total			\$3,900.00	
	0530 -	Total						\$3,900.00	
	0540	MGS END ANCHOR	Construction Stockpile		2	May 16, 2022	SYSTEM	(\$842.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$842.00)	
			Construction	Stockpile - 1	「otal			(\$842.00)	
			Construction Stockpile STMI		1	May 3, 2022	SYSTEM	\$4,210.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$4,210.00	
			Construction	Stockpile S	ſMI - Total			\$4,210.00	
	0540 -	Total						\$3,368.00	
	0550	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		2	May 16, 2022	SYSTEM	(\$1,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				(\$1,900.00)	
			Construction	Stockpile - 1	otal			(\$1,900.00)	



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4I3331	0550	TYPE A CRASHWORTHY END TERMINAL (MASH)	Stockpile		1	May 3, 2022	SYSTEM	\$11,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$11,400.00	
			Construction	Stockpile S1	ſMI - Total			\$11,400.00	
	0550 -	Total						\$9,500.00	
	5002	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	Overrun	Overrun	4	Jun 16, 2022	SYSTEM	(\$25,057.39)	
				Overrun - T	otal			(\$25,057.39)	
			Overrun - To	tal				(\$25,057.39)	
	5002 -	Total						(\$25,057.39)	
J4I3331 -	Total							\$168,880.25	
Overall -	Total							\$168,880.25	